Model Multiple Choice Questions:
PC-3: Information Technology(Theory)

Question Number:1

Which of the following is not a valid type of computer virus?
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Boot Virus
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Macro Virus
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Resident Virus
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Polygraphic Virus
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Question Number:2

In performing a risk-based audit, which risk assessment is completed initially by the IS auditor?
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Detection risk assessment.
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Control risk assessment
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Inherent risk assessment
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Fraud risk assessment.
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Question Number:3

A bank ATM card is an example of
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‘What you know’
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‘What you have’
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Both a and b
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‘What you are’
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Question Number:4

Which of the following is least likely to be a function of a documentation librarian:
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A Ensuring that access rights to documentation are given only to the appropriate personnel
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Ensuring that documentation is stored securely

B
TGl & HAGUT T F&T I JATAA Hll
Ensuring that adequate backup exists for documentation
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Ensuring that only authorized person get access to documentation.
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Question Number:5

Which of the following virus prevention techniques can be implemented through hardware?
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Remote booting
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Heuristic scanners
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Cc Behavior blockers
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Immunizers
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